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NEW QUESTION 1
- (Topic 1)
The main benefit of a mass customization product design strategy is to:

A. sell high quantities of product to specific customer segments.
B. achieve economies of scale in purchasing components.
C. offer more product variety while keeping inventories low.
D. avoid assembly of finished products.

Answer: C

NEW QUESTION 2
- (Topic 1)
Which of the following scenarios represents a correct application of the Supply-Chain Operations Reference-model (SCOR)?

A. Sales and marketing refers to SCOR to improve demand generation.
B. Production and engineering uses SCOR best practices to design a new "make" process flow.
C. Distribution and logistics selects suppliers from the SCOR reference list.
D. Marketing and development incorporates SCOR Level I metrics for new product design.

Answer: B

NEW QUESTION 3
- (Topic 1)
A large manufacturer wanting to be more competitive in the global market place decided to outsource its transportation and return processing to other companies
on a contractual basis. The companies providing the services would be referred to as:

A. fourth party logistics providers.
B. third party logistics providers.
C. retail services providers.
D. distribution services providers.

Answer: B

NEW QUESTION 4
- (Topic 1)
Which of the following consequences is a result of shipping directly from the point of manufacture to the customer rather than through a distribution network?

A. Delivery lead times are consistent.
B. Risk pooling benefits are negated.
C. Distribution overhead is increased.
D. Order-fill rate is decreased.

Answer: B

NEW QUESTION 5
- (Topic 1)
Compared to a global strategy, a multicountry strategy would be characterized by:

A. strategy coordination across countries.
B. preferred suppliers located in host countries.
C. major strategic decisions coordinated centrally.
D. products adapted to local needs.

Answer: D

NEW QUESTION 6
- (Topic 1)
Reverse supply chain activity typically peaks nearest the beginning of which of the following stages of the product life cycle?

A. Introduction
B. Growth
C. Maturity
D. Decline

Answer: D

NEW QUESTION 7
- (Topic 1)
Which of the following organizational design choices is an example of vertical integration?

A. Contracting with a third-party logistics provider
B. Producing components used internally
C. Externally staffing a customer service center
D. Awarding a one-time trade show contract
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Answer: B

NEW QUESTION 8
- (Topic 1)
A remanufacturer of equipment is most likely to have what type of supply chain?

A. Modular logistics
B. Reverse logistics
C. Mixed model
D. Lateral

Answer: B

NEW QUESTION 9
- (Topic 1)
The use of a seasonal index as a forecasting technique measures the ratio of the:

A. average seasonal demand to the average demand for all periods.
B. average demand for all periods to the average seasonal demand.
C. average seasonal demand to the standard deviation of the demand for all periods.
D. standard deviation of the seasonal demand to the standard deviation of demand for all periods.

Answer: A

NEW QUESTION 10
- (Topic 1)
A manufacturer of plastic components that are sold either directly or through distributors wants to identify the requirements of the end customers for each market
segment. Which of the following approaches would be most appropriate?

A. Analyzing the buying history for each of the market segments
B. Asking the manufacturer's direct customers
C. Conducting a market research project
D. Sending samples of potential future products to the final customers

Answer: C

NEW QUESTION 10
- (Topic 1)
Which of the following corporate strategies is most consistent with a flexible supply chain strategy?

A. Being the low-price leader
B. Providing the highest-quality service
C. Providing mature products with stable sales
D. Emphasizing the quality of the product

Answer: B

NEW QUESTION 13
- (Topic 1)
Which of the following outcomes is a benefit typically expected of customer relationship management (CRM)?

A. Reducing the size of the sales force by automating activities
B. Gaining a better understanding of customer requirements
C. Implementing automated inter-organizational processes
D. Focusing sales efforts on the most profitable customers

Answer: B

NEW QUESTION 15
- (Topic 1)
Which of the following strategies is used primarily for demand planning?

A. Build-to-order scheduling
B. Push-pull replenishment
C. Collaborative planning, forecasting, and replenishment
D. Vendor-managed inventory

Answer: C

NEW QUESTION 18
- (Topic 1)
Which of the following practices has improved management of the customer pipeline?

A. Reverse auctions
B. Sales force automation
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C. Finite capacity planning
D. Point-of-purchase metrics

Answer: :B

NEW QUESTION 23
- (Topic 1)
A firm wants to lose customers that don't value the unique products and services the firm offers and to attract and retain customers that want what the firm offers.
Engaging in this activity should allow the firm to:

A. create a more loyal customer base.
B. improve customer satisfaction rates.
C. increase market share.
D. target higher-profit customers.

Answer: A

NEW QUESTION 25
- (Topic 1)
Using an independent service provider for logistics would be most appropriate in which of the following situations?

A. A shoe company that wants to penetrate a foreign market
B. A business that owns plants and warehouses globally
C. A financial services company that wants to expand its services
D. A cable television company that wants to add services

Answer: A

NEW QUESTION 29
- (Topic 1)
Which of the following actions typically would be the first step in implementing the philosophy of customer relationship management?

A. Creating a customer-centric organization
B. Developing a map of the customer segments
C. Documenting the objectives for implementation
D. Selecting an information technology solution

Answer: A

NEW QUESTION 30
- (Topic 1)
Which of the following indicators is most appropriate to use as a measure of supply chain utilization?

A. Production equipment productivity
B. Net asset turnover
C. Value-added productivity per employee
D. Upside flexibility

Answer: B

NEW QUESTION 31
- (Topic 1)
A company that produces standardized products and sells them through retailers via a responsive transportation system has decided to expand its sales with an
online store for customized products. Which of the following distribution strategies would be the most appropriate for the business-strategy change?

A. Local distribution centers serving retailers and online sales
B. Centralized cross-docking facilities serving retailers and online sales
C. A centralized distribution center serving retailers and direct shipment from the factory serving online sales
D. A centralized distribution center serving retailers with transshipment arrangements serving online sales

Answer: C

NEW QUESTION 36
- (Topic 1)
Incorporating supplier input into product and process design helps to:

A. maintain quality.
B. stabilize product costs.
C. reduce time to market.
D. save costs to the buyer.

Answer: C

NEW QUESTION 40
- (Topic 1)
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A media company offers a majority of its movies through a specific distributor. The media company is beginning to produce content for a new foreign market to
which the distributor has exclusive access. To maximize savings and gain entry to this new market, the media company should:

A. create a contract for the new market.
B. enter into a partnership.
C. form a strategic alliance.
D. acquire the distributor.

Answer: C

NEW QUESTION 43
- (Topic 1)
Supply chains delivering products or services are most able to respond quickly to changing market requirements when:

A. products have been standardized.
B. products have a modular design.
C. production processes have been standardized.
D. production processes have been simplified.

Answer: B

NEW QUESTION 47
- (Topic 1)
Which of the following benefits of supplier relationship management typically results from collaboration with a few critical suppliers?

A. Automation of supplier sales activities
B. Elimination of formal contracts
C. Reduction in customer and supplier inventories
D. Standardization of communications

Answer: C

NEW QUESTION 51
- (Topic 1)
Which of the following types of information would be an appropriate basis for a qualitative forecast?

A. Leading indicators
B. Market research data
C. Order history
D. Shipment history

Answer: B

NEW QUESTION 56
- (Topic 1)
Which of the following considerations is an important supply chain design decision?

A. Product design
B. Selecting supporting information systems
C. Identifying labor force requirements
D. Identifying training programs

Answer: B

NEW QUESTION 61
- (Topic 1)
The most likely benefit of implementing a collaborative transportation management system is:

A. lower distribution center operating costs.
B. fewer transportation planners.
C. less variability in picking and packing time.
D. less variability in transportation costs.

Answer: D

NEW QUESTION 65
- (Topic 1)
Compared to a blanket purchase order, a supplier alliance agreement is best differentiated by:

A. efficient material replenishment processes.
B. clearly identified roles for the buyer and seller.
C. a shared vision of added value.
D. a sole-source agreement.

Answer: C
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NEW QUESTION 69
- (Topic 1)
A manufacturer uses standard costing, and a potential supplier uses activity-based costing. This difference most likely will have implications for which of the
following types of future decisions?

A. Price concessions
B. Make-or-buy
C. Distribution warehouse locations
D. Freight terms

Answer: B

NEW QUESTION 71
- (Topic 1)
Which of the following forecasting methods relies on the opinions of a panel of experts?

A. Delphi technique
B. Survey method
C. Causal method
D. Time series analysis

Answer: A

NEW QUESTION 76
- (Topic 1)
The primary reason for a firm to pursue strategic supply chain activities is to:

A. gain competitive advantage.
B. reduce costs.
C. increase productivity.
D. decrease product lead time.

Answer: A

NEW QUESTION 81
- (Topic 1)
What is the primary role of marketing in supporting supply chain management?

A. Selecting favored supplier partners
B. Developing efficient customer channels
C. Focusing on short-term forecasting accuracy
D. Working with research and development on slow-moving products

Answer: B

NEW QUESTION 85
- (Topic 1)
Demand management involves which of the following undertakings?

A. Adjusting capacity to support expected demand
B. Engaging in activities associated with customer relationship management
C. Creating higher customer demand by improving performance in areas such as lead time and service levels
D. Understanding events and managing activities that could influence future demand

Answer: D

NEW QUESTION 87
- (Topic 1)
Which of the following customer relationship management activities most appropriately is used for revenue generation?

A. Generating customer leads
B. Generating graphic sales models
C. Measuring customer preferences
D. Identifying customer margins

Answer: A

NEW QUESTION 90
- (Topic 1)
The focus of collaborative supply chain management differs from a transactional approach by its emphasis on the:

A. transportation of goods to the next link in the chain.
B. flow of product information up to the next level of the chain.
C. flow of demand information and cash up the chain.
D. flow of supply into an organization.

Answer: 
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C

NEW QUESTION 95
- (Topic 1)
When designing a supply chain for strategic advantage, a company first should consider:

A. the impact on customers using Just-in-Time manufacturing.
B. the financial stability of suppliers.
C. matching the supply chain to product type.
D. whether to use custom or standard parts.

Answer: C

NEW QUESTION 97
- (Topic 1)
Maintaining a long-term collaborative relationship with a trading partner requires:

A. formal and informal communication.
B. interconnected information systems.
C. one partner regularly exercising power.
D. standardized terms of agreement.

Answer: A

NEW QUESTION 101
- (Topic 1)
Which of the following situations is an example of inventory being held as a way to balance supply and demand?

A. A manufacturer holds inventory of key components to maintain a level production schedule.
B. A manufacturer of seasonal products builds finished-goods inventory before the peak
C. selling period.
D. A distributor maintains safety stock of slow-moving items at a central distribution center.
E. A retailer stocks a variety of sizes and colors of a fast-selling item to avoid losing sales.

Answer: B

NEW QUESTION 106
- (Topic 1)
A firm supplies a single line of products to consumers using retail stores and on-line sales, distributors, and wholesalers. Currently the firm has common pricing
and response times for sales in each sales channel. Which of the following tools is most appropriate to employ to improve profitability?

A. Customer segmentation
B. Customer-facing ordering systems
C. Customer relationship management (CRM)
D. Supply Chain Operations Reference (SCOR®)

Answer: A

NEW QUESTION 111
- (Topic 1)
The value that logistics provides within the supply chain can best be summarized as:

A. satisfying customer expectations about availability and delivery at an acceptable total cost.
B. meeting promised location and on-time delivery goals with minimal use of expediting.
C. establishing inventory and delivery goals with various customers that fulfill the firm's profit objectives.
D. providing accurate in-transit and delivery information to customers and salespeople.

Answer: A

NEW QUESTION 114
- (Topic 2)
Which of the following strategies would increase overall supply chain risk?

A. Single sourcing a product that makes the highest annual profit
B. Outsourcing a product that is not well suited to your operations
C. Identify multiple sources for a product that has a potential for supply chain disruption
D. Internally manufacturing a product that has a high level of technical intellectual property

Answer: A

NEW QUESTION 118
- (Topic 2)
A company currently produces custom goods for a limited market. To increase market share, the company will implement a strategy to reduce the number of
products it produces and reduce delivery lead time. The company can increase its chances of achieving the strategy by:

A. using benchmark data for products in the same product groups.
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B. incorporating results from market surveys.
C. involving customers in the product design process.
D. using electronic communications to receive customer complaints.

Answer: C

NEW QUESTION 120
- (Topic 2)
What are the steps in the supplier relationship process?

A. Measure, fulfill, document, model
B. Source, document, manage
C. Measure, procure, fulfill, model
D. Source, procure, fulfill, manage

Answer: D

NEW QUESTION 124
- (Topic 2)
The transportation manager at a consumer goods manufacturer has decided to begin shipping full truckload rather than less-than-truckload quantities. Which of the
following
outcomes is likely following implementation of this decision?

A. Inventory levels at the manufacturer will decrease.
B. Lead times as seen by the customer will increase.
C. Production efficiencies at the manufacturer will increase.
D. Transportation costs as seen by the customer will increase.

Answer: B

NEW QUESTION 126
- (Topic 2)
A company ships from its manufacturing facilities directly to its warehouses. If the number of warehouses increases, transportation costs between manufacturing
facilities and warehouses most likely will:

A. increase.
B. decrease.
C. not change.
D. become less predictable.

Answer: A

NEW QUESTION 127
- (Topic 2)
The social dimension of sustainability typically would be addressed when developing and implementing policies regarding:

A. accounting practices.
B. biodiversity protection.
C. conflicts of interest.
D. waste reduction.

Answer: C

NEW QUESTION 131
- (Topic 2)
Managing supply chain risks includes which of the following activities?

A. Developing alternatives to key suppliers
B. Setting aside funds for disruption-recovery efforts
C. Charging each supply chain partner a portion of risk cost
D. Creating extra inventory to cover disruptions in the supply chain

Answer: A

NEW QUESTION 134
- (Topic 2)
Which of the following processes would a company use to evaluate the risk profile for end- of-life planning for a product family?

A. Distribution requirements planning
B. Sales and operations planning
C. Rough-cut capacity planning
D. Production activity control

Answer: B

NEW QUESTION 135
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- (Topic 2)
The United Nations Global Compact uses 10 guiding principles to:

A. reduce uncertainty for multinational firms regarding legal, import/export, labor, and environmental standards across countries.
B. set minimum levels of compliance across a broad range of transactional areas for businesses operating in multiple geographic regions.
C. align the needs of businesses to increase profitability and the needs of individual countries to ensure their specific legal requirements are met.
D. help ensure that markets, commerce, technology, and finance promote advancement of economies and societies everywhere.

Answer: D

NEW QUESTION 138
- (Topic 2)
A company wants to implement a system for managing environmental compliance with legislative and regulatory requirements. Which of the following sustainability
tools is most appropriate?

A. ISO 14000
B. Global Reporting Initiative (GRI)
C. ISO 26000
D. UN Global Compact

Answer: A

NEW QUESTION 141
- (Topic 2)
The most appropriate reason for a business to comply with the United Nations (UN) Global Compact practices typically would be to:

A. enhance the competitive advantage.
B. gain access to proven management tools.
C. reduce the threat of organized labor.
D. reduce the cost of operating in multiple countries.

Answer: A

NEW QUESTION 145
- (Topic 2)
A company that sells direct to industrial and commercial businesses has become successful by being responsive to the needs of its customers. The company
currently produces in each country all of the products it sells in that country. Several countries in which the company operates have negotiated an agreement to
establish a trading bloc. Which of the following actions by the company would be most appropriate if the agreement is implemented?

A. Consolidate production outside the trading bloc to reduce total costs.
B. Consolidate production within the trading bloc to reduce tariffs paid.
C. Outsource the production of products with low sales volumes to reallocate capacity.
D. Reassign products so that each is produced in a single facility within the trading bloc to get economies of scale.

Answer: D

NEW QUESTION 148
- (Topic 2)
A company's supply chain depends heavily on sourcing from international suppliers. Conditions increasingly threaten supply continuity. Which of the following
actions is most
appropriate?

A. Source from domestic suppliers.
B. Conduct a risk assessment.
C. Carry additional safety stock.
D. Spread logistics across multiple carriers.

Answer: B

NEW QUESTION 150
- (Topic 2)
A product design that can be produced to requirements even when conditions in the production process are unfavorable typically is known as what type of design?

A. Universal
B. Computer-aided
C. Modular
D. Robust

Answer: D

NEW QUESTION 154
- (Topic 2)
A company is formally adhering to the principles of the UN Global Compact. After a review of their supply chain, they have found that a key supplier is in violation
of the compact. The
best action for the company to do first is:

A. do nothin
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B. The company is not responsible for compliance of suppliers.
C. replace the supplier as soon as possible with a compliant supplier.
D. notify the supplier of non-compliance.
E. require the supplier to become compliant.

Answer: C

NEW QUESTION 156
- (Topic 2)
The customer who provides point-of-sale data remains the sole decision-maker regarding order quantities when what type of inventory strategy is used?

A. Continuous replenishment
B. Advanced continuous replenishment
C. Vendor-managed replenishment
D. Quick response

Answer: D

NEW QUESTION 157
- (Topic 2)
When doing international business, a company's total line-haul costs will vary with the:

A. weight shipped.
B. distance shipped.
C. pallets shipped.
D. volume shipped.

Answer: B

NEW QUESTION 162
- (Topic 2)
Which of the following activities typically would be an appropriate application of the ISO 31000 Risk Management Principles and Guidelines?

A. Calculating a risk index for each facility
B. Establishing external risk communications processes
C. Projecting the ability of a facility to recover from an event
D. Preparing for risk management accreditation

Answer: B

NEW QUESTION 165
- (Topic 2)
A company's product cannot be sold beyond 12 months from the date of manufacture. The product contains hazardous material and must be returned to the
factory to be neutralized. This situation is an example of product:

A. reuse.
B. remanufacturing.
C. recovery.
D. refurbishing.

Answer: C

NEW QUESTION 170
- (Topic 2)
A company most likely would consider moving a portion of its manufacturing to a second location to:

A. improve competitive advantage through cost control.
B. avoid manufacturing downtime due to material shortages.
C. maximize security for customer shipments.
D. minimize the impact of natural disasters.

Answer: D

NEW QUESTION 174
- (Topic 2)
When an importer and manufacturer are operating in a free trade zone, payment of a customs duty is triggered when products are:

A. returned.
B. assembled.
C. stored.
D. distributed.

Answer: D

NEW QUESTION 178

Passing Certification Exams Made Easy visit - https://www.2PassEasy.com



Welcome to download the Newest 2passeasy CSCP dumps
https://www.2passeasy.com/dumps/CSCP/ (510 New Questions)

- (Topic 2)
A firm has discovered a product quality issue. What should be the first step in responding to this issue?

A. Determine the root cause of the quality issue.
B. Separate the non-conforming products.
C. Trace the location of the faulty product in the supply chain.
D. Replace faulty products when they are returned by the end user.

Answer: C

NEW QUESTION 183
- (Topic 2)
Bar codes and radio frequency identification systems are key technologies in supply chain systems because they perform which of the following functions?

A. Tracking truck locations on cross-country deliveries
B. Facilitating timely and accurate data acquisition
C. Providing paperless invoicing of goods
D. Producing schedule broadcasts for suppliers

Answer: B

NEW QUESTION 188
- (Topic 2)
A company that sells engineered-to-order products is planning implementation of a supplier relationship management system (SRM) for direct materials. Which of
the following factors is most likely to make the implementation difficult?

A. Complexity of the purchasing process
B. Cost of the application software upgrades
C. Management of variable lead times
D. Resistance of material suppliers

Answer: A

NEW QUESTION 191
- (Topic 2)
The most important challenge to consider when sourcing globally is:

A. the identification of sources capable of producing the materials.
B. the availability of low-cost labor and energy.
C. complying with specific import/export issues.
D. balancing the difference between piece price and total cost.

Answer: D

NEW QUESTION 195
- (Topic 2)
A manufacturer and the distributors of its products have decided to focus on price and product availability as strategic priorities. Which of the following values
would be the most appropriate measure of customer service?

A. Manufacturer's volume flexibility
B. Order-fulfillment lead times
C. Distributors' order-fill rates
D. Supply chain inventory days of supply

Answer: C

NEW QUESTION 196
- (Topic 2)
Direct shipment distribution typically offers which of the following advantages?

A. Risk pooling is facilitated.
B. Demand variability is reduced.
C. Service levels are increased.
D. Lead times are reduced.

Answer: D

NEW QUESTION 201
- (Topic 2)
The globalization of a supply chain typically increases uncertainty and:

A. production lead time.
B. local competition.
C. documentation complexity.
D. product standardization.

Answer: C
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NEW QUESTION 202
- (Topic 2)
An increase in the inventory turnover rate for a supply chain typically would indicate that there has been a reduction in:

A. prices to the end user.
B. supply chain cost of sales.
C. the manufacturer's inventory.
D. the total supply chain inventory.

Answer: D

NEW QUESTION 203
- (Topic 2)
Which of the following ISO standards is used to assist organizations with sustainable development?

A. ISO 31000
B. ISO 14001
C. ISO 26000
D. ISO 9001

Answer: C

NEW QUESTION 204
- (Topic 2)
Implementation of supply chain applications based on which of the following technologies is most likely to have the lowest fixed costs?

A. Best of breed packages
B. One integrated package
C. Service-oriented architecture
D. Software-as-a-service

Answer: D

NEW QUESTION 206
- (Topic 2)
A business is changing from a business to business model to a business to consumer model. Which of the following statements about this supply chain change is
true?

A. Returns from customers will decrease.
B. Number of supplier orders will increase.
C. Number of customer orders will increase.
D. Average supplier order size will increase.

Answer: C

NEW QUESTION 211
- (Topic 2)
What is the primary benefit of using a central storage warehouse for all components rather than using point-of-use storage?

A. Reduced need for bar codes and radio frequency identification technology
B. Reduced material handling costs
C. Ease of control and count accuracy
D. Maintain a cleaner shop floor

Answer: C

NEW QUESTION 214
- (Topic 3)
Electronic data interchange reduces costs primarily through:

A. standardization of trading document formats.
B. adaptability across hardware platforms.
C. simplified software development.
D. replacement of proprietary systems.

Answer: A

NEW QUESTION 217
- (Topic 3)
Which of the following actions best exemplifies an appropriate demand management
strategy?

A. Reducing costs in the procurement of goods
B. Prioritizing demand when supply is constrained
C. Maximizing sales orders from customers
D. Updating the sales and operations planning (S&OP) to changes in production capacity
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Answer: B

NEW QUESTION 222
- (Topic 3)
The most significant reason for altering supply chain management practices in an organization would be a change in its:

A. executive management.
B. corporate strategy.
C. profitability of operations.
D. financial position.

Answer: B

NEW QUESTION 227
- (Topic 3)
Which of the following outcomes most likely is the primary reason for outsourcing production of a new product?

A. Increase control of the supply chain
B. Increase flexibility of the supply chain
C. Reduce required capital investment
D. Reduce the need for skilled workers

Answer: C

NEW QUESTION 232
- (Topic 3)
A company is having trouble with raw material deliveries and decides to develop a supplier certification program. The certification process most appropriately
would start with which of the following suppliers?

A. Suppliers of "A" classified items
B. Suppliers recently ISO 9000-certified
C. Suppliers with the worst performance records
D. Competitors of suppliers with the worst performance records

Answer: A

NEW QUESTION 233
- (Topic 3)
Which of the following actions is most appropriate when implementing a strategy to create customer-affordable value?

A. Use a more rapid transportation mode.
B. Increase safety stock.
C. Extend product warranty.
D. Employ lean principles.

Answer: D

NEW QUESTION 238
- (Topic 3)
Which of the following changes often leads to higher levels of inventory?

A. Decrease in customer service level
B. Decrease in vendor lead times
C. Increase in economies of scale
D. Increase in warehouse holding costs

Answer: C

NEW QUESTION 243
- (Topic 3)
A supplier disputes a low rating generated by a company's enterprise resources planning (ERP) system. Which of the following actions by the purchasing agent is
most appropriate?

A. Advise the ERP information technology manager that there is a flaw in the rating system.
B. Scrap the vendor rating system until the company can figure out what is wrong.
C. Compare the vendor and company detail records, and interview company employees who handled the data.
D. Tell the supplier that, regardless of the disputed claims, the supplier must improve performance.

Answer: C

NEW QUESTION 248
- (Topic 3)
The benefit most likely to result from a collaborative forecasting process is:

A. improvement in forecast accuracy.
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B. improvement in forecast responsiveness.
C. reduction of the coefficient of variation.
D. reduction of forecasting effort.

Answer: A

NEW QUESTION 251
- (Topic 3)
Measurement of service to the customer should consider which of the following strategic priorities?

A. Cash flow
B. Responsiveness
C. Order cycle time
D. Forecast accuracy

Answer: B

NEW QUESTION 253
- (Topic 3)
A company understates current revenue forecasts and delays the delivery of orders to meet the forecast. The most likely result of this practice is that shipments
will peak:

A. at the beginning of reporting periods.
B. randomly throughout reporting periods.
C. at both the beginning and end of reporting periods.
D. at the end of reporting periods.

Answer: A

NEW QUESTION 256
- (Topic 3)
Which of the following actions is most likely to improve customer perceptions about delivery performance provided by a firm?

A. Shipping orders early whenever possible
B. Increasing the order-fill rate
C. Increasing inventory velocity for key products
D. Implementing a pull inventory replenishment system

Answer: B

NEW QUESTION 258
- (Topic 3)
What benefit does Radio Frequency Identification (RFID) technology provide for a high- volume, low-cost manufacturer?

A. Reduces store thefts
B. Eliminates the effects of bullwhip
C. Eliminates stock out at store level
D. Reduces number of touch points in pallet handling

Answer: D

NEW QUESTION 263
- (Topic 3)
A manufacturer is evaluating outsourcing production of high-volume components. Outsourcing production will likely require an increase in total supply chain
inventory for the components due to an increase in:

A. demand.
B. lead time.
C. quality.
D. suppliers.

Answer: B

NEW QUESTION 266
- (Topic 3)
A company operates under a make-to-order policy, and its supplier operates under a make- to-stock policy. Which of the following risks poses the greatest threat?

A. Inventory risk for the company
B. Inventory risk for the supplier
C. Debt leverage risk for the company
D. Debt leverage risk for the supplier

Answer: B

NEW QUESTION 269
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- (Topic 3)
Which of the following methodologies is most appropriate to use to drive continuous improvement?

A. Define-measure-analyze-improve-control process
B. Kanban
C. Poka-yoke
D. Pareto analysis

Answer: A

NEW QUESTION 273
- (Topic 3)
The most appropriate frequency for the sales and operations planning process typically is:

A. weekly.
B. monthly.
C. quarterly.
D. annually.

Answer: B

NEW QUESTION 278
- (Topic 3)
Use of consistent performance measures among trading partners is a best practice to:

A. share data among information systems faster.
B. manage collaboration and continuous improvement.
C. reduce the time to introduce new products.
D. increase the flexibility to collaborate with customers.

Answer: B

NEW QUESTION 283
- (Topic 3)
When establishing third-party and fourth-party logistics relationships, a firm should avoid providers who:

A. use a proprietary information system.
B. constantly update their information technology and equipment.
C. provide extensive reporting on each customer interaction.
D. meet customer requirements through regional warehousing.

Answer: A

NEW QUESTION 286
- (Topic 3)
Organizations that change from a traditional purchasing perspective to a supply chain perspective most likely will adopt techniques related to:

A. product pricing.
B. value stream analysis.
C. centralized decision making.
D. sourcing multiple suppliers.

Answer: B

NEW QUESTION 287
- (Topic 3)
A company recently faced an increase in backorders. The company’s marketing department recently ran a sales promotion. The purchasing and planning
departments were not aware of the promotional activity. Which of the following processes will help to solve this type of problem in the future?

A. Sales and operations planning (S&OP)
B. Advanced planning and scheduling (APS)
C. Supplier relationship management (SRM)
D. Customer relationship management (CRM)

Answer: A

NEW QUESTION 289
- (Topic 3)
When trying to decide whether to outsource its customer relationship management function, a company primarily should consider which of the following factors?

A. Location of the service provider
B. Internal controls of the company
C. Compatibility of computer hardware
D. Transaction costs

Answer: B
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Explanation: 
A grocery store found that ground beef sales increased when buns were a featured sales item. This customer relationship management technique is called:
A. data mining.
B. data tracking.
C. contact management.
A. D. order entry. Answer: A

NEW QUESTION 294
- (Topic 3)
Prioritizing customer needs is best accomplished by:

A. sharing information with key customers.
B. installing a new enterprise resources planning system.
C. responding to customer requests in the order they are received.
D. establishing policies and procedures for honoring customer requests.

Answer: D

NEW QUESTION 295
- (Topic 3)
Which of the following factors should be considered when establishing an inventory policy?

A. Customer demand
B. Selling price history
C. Historical service levels
D. Number of customers

Answer: A

NEW QUESTION 298
- (Topic 3)
A retailer sets service-level targets intended to maximize total profit. The retailer's service level target should be highest for items with a high profit margin and:

A. low variability of demand.
B. made to stock.
C. small replenishment lot size.
D. made to order.

Answer: A

NEW QUESTION 299
- (Topic 3)
A firm has increased finished-goods inventories for several products to compensate for increased variability in demand. The firm analyzed shipment data and
determined that the variability was due to a few customers placing large orders for single shipments to obtain discounts. Which of the following actions is the firm
most likely to take to maintain sales and reduce variability in demand?

A. Reducing discounts for large orders
B. Encouraging high-volume customers to place blanket orders
C. Implementing extrinsic forecasting methods
D. Increasing the level of safety stock on high-volume products

Answer: B

NEW QUESTION 303
- (Topic 3)
Short order cycles to facilitate rapid replenishment will result in:

A. minimal in-process inventory.
B. fewer inventory moves.
C. improved communications to customers.
D. increased supplier collaboration.

Answer: A

NEW QUESTION 307
- (Topic 3)
Pull strategy typically would be the most appropriate strategy when customer demand uncertainty is:

A. high, and supplier lead time is long.
B. high, and supplier lead time is short.
C. low, and supplier lead time is long.
D. low, and supplier lead time is short.

Answer: B

NEW QUESTION 312
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- (Topic 3)
A distribution requirements planning system is implemented primarily to monitor or manage:

A. supplier capacity.
B. customer demand.
C. inventory replenishment.
D. demand variation.

Answer: C

NEW QUESTION 314
- (Topic 3)
The make-to-stock model is an effective inventory strategy when the product:

A. has a long manufacturing lead time.
B. has a limited set of features.
C. is designed by the customer.
D. is frequently out of stock.

Answer: B

NEW QUESTION 316
- (Topic 3)
The most useful inventory costing method which enables purchase price variance analysis
is:

A. average costing.
B. standard costing.
C. last in first out (LIFO) costing.
D. first in first out (FIFO) costing.

Answer: B

NEW QUESTION 320
- (Topic 3)
A company has outsourced a high volume of assembly work to top-tier suppliers, thereby reducing the overall number of suppliers they directly manage. Which of
the following actions must the company perform to mitigate risk?

A. Monitor lead times at sub-tier suppliers
B. Maintain direct relationships with sub-tier suppliers
C. Execute all terms of contracts at sub-tier suppliers
D. Purchase all critical components for assembly at the company

Answer: B

NEW QUESTION 325
- (Topic 3)
A company has recently implemented a vendor-managed inventory (VMI) program with several key suppliers but quality issues are disrupting production. Which of
the following actions would be more effective in dealing with these issues?

A. Tighten the quality tolerances
B. Implement a supplier certification program
C. Implement quality inspection at the receiving dock
D. Charge back to the supplier the rework and scrap costs

Answer: B

NEW QUESTION 326
- (Topic 3)
A company recently implemented a new supplier rating system. Data was collected from the enterprise resources planning system about each vendor's rating for
cost, quality, and delivery over 12 months. A cutoff point was established for poor performers. The responsible purchasing agent then scheduled meetings with
each supplier. Which of the following actions is most appropriate to take with suppliers whose ratings were below the cutoff point?

A. Discuss ways to raise the ratings for the next review period.
B. Tell the suppliers they are on probation for 3 months.
C. Immediately cancel outstanding contracts with those suppliers.
D. Ask the suppliers to explain the poor performance.

Answer: A

NEW QUESTION 328
- (Topic 3)
Which of the following costs is an example of ordering cost?

A. Inspection labor
B. Obsolesence
C. Cost of capital invested
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D. Insurance

Answer: A

NEW QUESTION 331
- (Topic 3)
Purchased component standardization generates savings primarily by reducing:

A. assembly costs through economies of scale.
B. engineering costs due to lower testing requirements.
C. inventory control costs due to smaller shelf space requirements.
D. inventory transportation costs by using economical modes.

Answer: A

NEW QUESTION 332
- (Topic 3)
Which of the following approaches typically would be most effective in increasing inventory velocity in a supply chain?

A. Using faster modes of transportation
B. Using third-party logistics firms
C. Reducing the inventory idle time
D. Adding capacity at bottlenecks

Answer: C

NEW QUESTION 337
- (Topic 3)
The employees at a convenience store are trained to ask customers purchasing snack foods whether they also would like to purchase a beverage. This situation is
an example of:

A. cross-selling.
B. customer service.
C. product marketing.
D. selling an upgrade.

Answer: :A

NEW QUESTION 338
- (Topic 3)
Which of the following metrics would be most appropriate for a group of trading partners that is trying to gain competitive advantage through supply chain
reliability?

A. Cash-to-cash cycle time
B. Supply chain response time
C. Order-fill rate performance
D. Value-added productivity per employee

Answer: C

NEW QUESTION 339
- (Topic 3)
Which of the following types of raw materials would be most appropriate to source via an Internet-based trading exchange?

A. Expensive material that is critical to the finished good
B. Expensive material for which there are several substitutes
C. Inexpensive material that is critical to the finished good
D. Inexpensive material for which there are many sources

Answer: :D

NEW QUESTION 344
- (Topic 3)
A retailer wants to partner with its suppliers to implement automatic replenishment of inventories and joint sales forecasts. Which of the following supply chain
management technologies most likely would support the retailer's strategy?

A. Advanced planning and scheduling
B. Collaborative planning, forecasting, and replenishment
C. Supplier relationship management applications
D. Radio frequency identification (RFID) tags

Answer: B

NEW QUESTION 348
- (Topic 3)
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The lowest-cost supply network design requires balancing inventory costs and which of the following types of costs?

A. Administrative
B. Manufacturing
C. Transportation
D. Sales and marketing

Answer: :C

NEW QUESTION 353
- (Topic 3)
Effective sales and operation planning (S&OP) is most likely to result in which of the following benefits?

A. Better customer service
B. Better product quality
C. Lower product cost
D. Lower work-in-process (WIP) inventory

Answer: A

NEW QUESTION 354
- (Topic 3)
Which of the following manufacturing strategies typically generates the lowest supply chain inventory?

A. Make to Stock
B. Assemble to Order
C. Make to Order
D. Engineer to Order

Answer: D

NEW QUESTION 359
- (Topic 3)
A company may reduce its amount of safety stock by:

A. substituting information for inventory.
B. increasing the number of retailers.
C. increasing the number of producers.
D. changing to a push system.

Answer: A

NEW QUESTION 364
- (Topic 3)
Before discontinuing a product based on activity-based cost calculations, one should primarily consider the effects upon:

A. activity-based cost calculations of other products.
B. value stream mapping of complementary products.
C. research and development (R&D) costs of new products.
D. overhead absorption rates across product lines.

Answer: A

NEW QUESTION 368
- (Topic 3)
A procurement manager wants to reduce costs on commodity items. Which of the following actions is likely to result in the greatest savings?

A. Conducting a supplier review and recertification
B. Renegotiating contracts with commodity suppliers
C. Standardizing and eliminating redundant items
D. Leveraging group purchasing power

Answer: D

NEW QUESTION 369
- (Topic 3)
A company that desires to implement a strategy for inventory management must define which of the following factors?

A. Reliability and maintainability requirements
B. Variability in the customer demand
C. Overall item effectiveness
D. Inventory carrying costs

Answer: B

NEW QUESTION 374
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- (Topic 3)
Which of the following tradeoffs should be considered when selecting logistics options?

A. Safety stock levels and customer service levels
B. Inventory levels and scheduling operations
C. Transportation cost and speed of delivery
D. Centralized and decentralized distribution network

Answer: C

NEW QUESTION 376
- (Topic 3)
Variation in upstream requirements can be reduced by increasing:

A. demand visibility.
B. production capacity.
C. product features.
D. safety stock.

Answer: A

NEW QUESTION 378
- (Topic 3)
A manufacturer has direct relationships with its tier 1 suppliers. Which of the following supplier capabilities is a benefit to the manufacturer establishing a direct
relationship with lower-tier suppliers?

A. Provides smaller lot sizes
B. Provides components with short lead times
C. Provides Just in Time deliveries
D. Provides information about impending shifts in the economy

Answer: D

NEW QUESTION 381
- (Topic 3)
Use of a centralized distribution center rather than a decentralized distribution network typically results in which of the following consequences?

A. Distribution system overhead is higher.
B. Customer delivery time is shorter.
C. Total transportation costs are lower.
D. Safety stock levels are lower.

Answer: D

NEW QUESTION 382
- (Topic 3)
Which of the following procurement strategies is most appropriate for a high-risk, high- value item?

A. Procuring in bulk to take advantage of volume pricing
B. Using an electronic trading platform to source items securely
C. Entering into vendor managed inventory (VMI) agreement
D. Creating a close collaborative relationship with the supplier

Answer: D

NEW QUESTION 385
- (Topic 3)
Which of the following activities occurs as part of the sales and operations planning process?

A. Time fences are matched to master production schedule horizons.
B. The next quarter's forecasts are presented by sales staff to finance and operations personnel at the final meeting.
C. Strategic plans are adjusted based on changing operating situations.
D. Plans are converted to financial projections and capacity requirements.

Answer: D

NEW QUESTION 386
- (Topic 3)
Which of the following outcomes is an expected benefit of effectively implementing supply chain event management software?

A. Inventory data are captured in real time.
B. Files are transferred from one corporation to another.
C. Notifications of variances from plans are triggered.
D. Communication protocols between companies are standardized.

Answer: :C
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NEW QUESTION 389
- (Topic 3)
Which of the following conditions is most likely to occur shortly after the introduction of an innovative product family?

A. Forecast errors will be low.
B. Production lead time will increase.
C. An inventory buffer will be required.
D. Demand will be stable.

Answer: C

NEW QUESTION 393
- (Topic 3)
A pattern of increased shipments from manufacturing plants to a central warehouse at month-end and quarter-end typically would cause which of the following
situations in a central warehouse?

A. Fluctuation in required labor resources
B. Decreased use of storage capacity
C. Decreased transportation costs
D. Increased outbound shipments

Answer: :A

NEW QUESTION 396
- (Topic 3)
The practice of purchasing items in large quantities and requesting that shipments be
delivered directly to customers is referred to as:

A. drop shipping.
B. cross-docking.
C. breaking bulk.
D. freight equalization.

Answer: A

NEW QUESTION 400
- (Topic 3)
A typical advantage of a production outsourcing strategy for a company focusing on agility as a competitive priority is that:

A. monitoring costs are decreased.
B. production lead time is increased.
C. product quality is increased.
D. product introduction time is decreased.

Answer: D

NEW QUESTION 401
- (Topic 3)
Which of the following supplier performance factors typically is most critical for organizations that outsource production?

A. Speed
B. Reliability
C. Flexibility
D. Malfunction recovery

Answer: B

NEW QUESTION 405
- (Topic 3)
An operations manager wants to measure variability in the delivery time of insurance policies to clients. Which of the following quality tools most appropriately
would show the level of variability?

A. Pareto chart
B. Histogram
C. Scatterplot
D. Check sheet

Answer: B

NEW QUESTION 408
- (Topic 3)
A company discovers that several high-volume customers have very erratic ordering patterns. Which of the following actions is most likely to reduce variability?

A. Checking the demand status multiple times daily
B. Establishing Internet-enabled collaborative relationships
C. Implementing electronic data interchange transactions
D. Increasing safety-stock levels for items these customers order
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Answer: B

NEW QUESTION 413
- (Topic 3)
A company produces to stock and sells its products to distributors. The factor that most likely will contribute to the risk of loss in inventory investment is the:

A. accuracy of demand forecasts.
B. replenishment lead time.
C. level of product quality.
D. variability in supply.

Answer: A

NEW QUESTION 418
- (Topic 3)
Which of the following types of strategies minimizes inventory throughout the supply chain to avoid obsolescence?

A. Delayed differentiation
B. Low costs
C. Location
D. Response

Answer: A

NEW QUESTION 421
- (Topic 3)
Companies interested in developing programs to pinpoint customer loyalty rely on customer relationship management tools that produce which of the following
outputs?

A. Transaction management
B. Forecast, process, and information sharing
C. Churn analysis and prediction
D. Event and service management

Answer: C

NEW QUESTION 424
- (Topic 3)
Which of the following principles is a core value of the UN Global Compact?

A. Anti-Corruption
B. Profitability
C. Discrimination
D. Employment

Answer: A

NEW QUESTION 429
- (Topic 3)
Which of the following issues recently has caused companies to rethink implementation or continued use of a Just-in-Time system?

A. The upward trend in inventory carrying costs
B. The reduced number of potential suppliers
C. The elimination of billing documents
D. Higher transportation costs

Answer: D

NEW QUESTION 434
- (Topic 3)
Which of the following outcomes is the primary benefit to an organization that develops a supplier certification program?

A. Supplier capability is documented.
B. Inspection costs are reduced.
C. Delivery time is improved.
D. Negotiating power is strengthened for the certifying organization.

Answer: B

NEW QUESTION 437
- (Topic 3)
An information technology system that couples enterprise resources planning and an advanced planning system would be most appropriate for which of the
following types of business operations?

A. Multiple plants in multiple industries
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B. Multiple plants in the same supply chain
C. Multiple supply chains of different products
D. Multiple supply chains of the same product

Answer: B

NEW QUESTION 438
- (Topic 3)
Which of the following actions by a group of trading partners is most likely to improve the flow of funds among them?

A. Increasing the level of information sharing and collaboration
B. Negotiating a single set of terms for the trading partners
C. Reducing the time allowed for the timely payment discount
D. Implementing links among their information systems

Answer: A

NEW QUESTION 439
- (Topic 3)
Which of the following statements is true when a contract manufacturing agreement is implemented?

A. There is no longer a need for material requirements planning.
B. The total cost of acquiring products will decrease.
C. Communications and project management are key factors for success.
D. Assets on the contract manufacturer's balance sheet typically will decrease.

Answer: C

NEW QUESTION 441
- (Topic 3)
One operation in a four-stage process has been producing more than required and is causing elevated levels of work in process. Which of the following
approaches would be most appropriate to address the situation?

A. Kano
B. Kanban
C. Kaizen
D. Keiretsu

Answer: B

NEW QUESTION 443
- (Topic 3)
If a firm has 35 days of accounts payable outstanding and 55 days invested in inventory, and its cash-to-cash cycle time is 90 days, what is the number of days of
accounts receivable?

A. 70
B. 90
C. 110
D. 180

Answer: A

NEW QUESTION 448
- (Topic 3)
A company is beginning the process of defining market segments for its products and services. The most appropriate objective for this undertaking would be to
identify groups of customers with similar:

A. geographical locations.
B. buying power.
C. revenue potential.
D. service requirements.

Answer: D

NEW QUESTION 450
- (Topic 3)
A firm decides to move from a mass production to a mass customization model. This will result in a change in focus from:

A. special to general purpose facilities.
B. lower to higher operational cost.
C. efficiency to effectiveness measures.
D. high to low flexibility workforce.

Answer: :A

NEW QUESTION 455
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- (Topic 3)
The implementation of major enterprise-wide changes to eliminate or significantly reduce waste is related to which of the following concepts?

A. Kaizen
B. Kanban
C. Six Sigma
D. Lean

Answer: D

NEW QUESTION 459
- (Topic 3)
Which of the following activities is critical to successful synchronization of supply and demand throughout a supply chain?

A. Sharing demand information
B. Placing large orders to obtain lower prices
C. Reducing the number of deliveries
D. Maintaining increased inventories

Answer: A

NEW QUESTION 462
- (Topic 3)
The relative speed at which all transactions within the supply chain process occur is known as:

A. the cycle time.
B. velocity.
C. latency.
D. throughput.

Answer: B

NEW QUESTION 467
- (Topic 3)
A service company has decided to create a customer-focused business and has identified the following steps in the process:
{exhibit 3860}
Which of the following sequences of steps is correct for implementing the company's decision?

A. 2, 1, 4, 3, 5
B. 4, 2, 1, 5, 3
C. 3, 5, 2, 4, 1
D. 4, 2, 5, 1, 3

Answer: B

NEW QUESTION 470
- (Topic 3)
The most appropriate approach to balance supply and demand over the medium term is:

A. Enterprise resource planning (ERP)
B. Business planning
C. Strategic planning
D. Sales and operations planning (S&OP)

Answer: D

NEW QUESTION 472
- (Topic 3)
Which of the following supply chain attributes is most appropriate for products with wide variety and highly variable demand?

A. Efficient
B. Responsive
C. Short
D. Virtual

Answer: B

NEW QUESTION 477
- (Topic 3)
Variability in product design can best be reduced by:

A. initiating 100% product inspection.
B. outsourcing the design process.
C. broadening design specifications.
D. applying Six Sigma principles.

Answer: D
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NEW QUESTION 478
- (Topic 3)
Which of the following metrics is the most appropriate measure of supply chain responsiveness?

A. Order fulfillment lead times
B. Percentage of orders delivered on time
C. Retail inventory days of supply
D. Upside production flexibility

Answer: D

NEW QUESTION 482
- (Topic 3)
An office furniture manufacturer observed that customers preferred to configure desks based on their available office space. To keep product costs to a minimum,
yet satisfy
customer needs, the company should choose which of the following design strategies?

A. Modularity
B. Component commonality
C. Mass customization
D. Standardization

Answer: A

NEW QUESTION 485
- (Topic 3)
The ABC classification system answers which two of the following inventory-related questions?

A. How much inventory should be ordered at one time, and when will the order be placed?
B. What is the importance of the inventory item, and how will the inventory items be controlled?
C. How much inventory should be ordered at one time, and what is the importance of the inventory item?
D. When will the order be placed, and how will the inventory items be controlled?

Answer: B

NEW QUESTION 490
- (Topic 3)
Marketing affects supply chain management decisions primarily by its involvement in:

A. analyzing economic indicators.
B. pricing, placing, and promoting products.
C. determining product requirements.
D. determining forecast error.

Answer: B

NEW QUESTION 492
- (Topic 3)
Which of the following processes is included in reverse logistics?

A. Designing a new product out of recycled material
B. Restoring a worn-out product to like-new condition
C. Reducing the amount of packaging material in a product
D. Eliminating toxic materials in a product

Answer: :B

NEW QUESTION 495
- (Topic 3)
A disadvantage of capable-to-promise (CTP) when compared to available-to-promise (ATP) is:

A. the loss of potential sales based on earlier allocations.
B. it does not include inventory levels.
C. it requires the purchase of additional equipment.
D. it requires more complex calculations.

Answer: D

NEW QUESTION 499
- (Topic 3)
The primary focus of lean manufacturing is:

A. eliminating activities that do not add value.
B. reducing inventory levels.
C. optimizing production activities.
D. maximizing the output of constraints.
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Answer: A

NEW QUESTION 502
- (Topic 3)
Which of the following measures typically would be considered an aspect of the environmental impact of a supply chain?

A. Amount of funds invested in infrastructure improvements
B. Hours of employee education about environmental stewardship
C. Weight and volume of packaging materials used
D. Total number of people making a living wage

Answer: C

NEW QUESTION 506
- (Topic 3)
Which of the following actions is an initial step in a continuous process improvement model?

A. Creating a flowchart to map the process
B. Benchmarking against another company
C. Setting specific performance goals
D. Developing a realistic project plan

Answer: A

NEW QUESTION 511
- (Topic 3)
The profit margin for a product that is currently made in the company's facility has decreased during the past 2 years. Which of the following factors should be
considered when deciding whether to make or buy the product?

A. Production capabilities
B. Transportation capabilities
C. Distribution channels
D. Landed cost

Answer: D

NEW QUESTION 512
- (Topic 3)
Which of the following steps is first in developing a product differentiation strategy?

A. Study customer needs
B. Define customer segments
C. Determine design modifications
D. Establish competitive priorities

Answer: A

NEW QUESTION 514
- (Topic 3)
A large bicycle company has outsourced manufacturing and needs to respond immediately to any logistics problems in the supply chain. The best technological
solution to meet this need is:

A. enterprise resources planning.
B. supply chain event management.
C. supplier relationship management.
D. a transportation management system.

Answer: B

NEW QUESTION 517
- (Topic 3)
Which of the following strategies typically will require the lowest inventory investment and deliver the shortest lead time?

A. Producing finished goods to forecast and shipping directly to customers
B. Producing finished goods to forecast and distributing through a multi-echelon network
C. Producing subassemblies to forecast and doing final assembly and shipping from the factory
D. Producing subassemblies to forecast and doing final assembly and shipping from regional centers

Answer: D

NEW QUESTION 522
- (Topic 3)
A manufacturing company with limited competence in logistics plans to expand into an international market. The most appropriate initial action the company should
take is to:
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A. buy a distribution company.
B. build a distribution network.
C. engage a third-party logistics company.
D. gain logistics experience.

Answer: C

NEW QUESTION 526
- (Topic 3)
Which of the following fill rates is the most rigorous measure of a firm's availability performance?

A. Line
B. Item
C. Order
D. Value

Answer: C

NEW QUESTION 531
- (Topic 3)
A company has adequate average available capacity but does not maintain surge capacity. With a distribution route to manage, which of the following actions will
provide the most capacity relief?

A. Increasing order-fulfillment lead times
B. Implementing allocation
C. Increasing prices with a 30-day effective date
D. Increasing product queue times

Answer: A

NEW QUESTION 535
- (Topic 3)
A company is considering relocating production to a lower-wage country. Volatility in which of the following areas most likely would impact profitability without
modifying product landed costs?

A. Labor costs
B. Currency exchange rates
C. Commodity prices
D. Product quality

Answer: BExplanation:NEWQUESTIONS

NEW QUESTION 536
- (Topic 3)
Continuous process improvement is characterized by which two of the following key steps?

A. Quality circles and benchmarking
B. Process review and supplier audits
C. Analysis and assessment
D. Observation and selection

Answer: C

NEW QUESTION 539
- (Topic 3)
When evaluating several possible supply chain options, a firm considering the minimal total cost should:

A. ensure that the inventory levels are as low as possible to minimize holding costs while still providing adequate customer service.
B. account for the combined costs of holding buffer inventory and incurring inventory shortages.
C. consider the costs of acquiring, holding, and transporting inventory, and of servicing customers.
D. place buffer inventory in the lowest cost locations that meet lead time and service level requirements from customers.

Answer: C

NEW QUESTION 544
- (Topic 3)
Compared to the traditional enterprise resources planning (ERP) system, an electronic business system (EBS) is preferred for today's e-business solution because
EBS:

A. is more flexible and functional.
B. is the backbone of outsourcing services.
C. has converged with Web-based applications to form a grouping of business software functions.
D. encompasses e-procurement as a traditional purchasing function.

Answer: C
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NEW QUESTION 549
- (Topic 3)
A company most likely would implement a supplier certification program to:

A. improve the supplier's procurement process.
B. abide by ISO standards.
C. validate the supplier's compliance with requirements.
D. implement point-of-sale (POS) terminals.

Answer: :C

NEW QUESTION 554
- (Topic 3)
Turning the request-for-quotes process into a real-time auction setting most likely will:

A. improve product quality.
B. increase process costs.
C. reduce cycle time.
D. reduce bid cost.

Answer: C

NEW QUESTION 557
- (Topic 3)
E-business allows a firm to capitalize on the use of systems that:

A. speed the receipt of e-mails between companies.
B. permit real-time use of supply chain data.
C. permit the use of batch-processed data.
D. ensure security of proprietary data.

Answer: B

NEW QUESTION 561
- (Topic 3)
In the analysis of costs, fixed costs are those that are:

A. independent of the volume of output.
B. dependent on the utilization of the asset.
C. inversely proportionate to the volume of output.
D. constant through the useful life of the asset.

Answer: A

NEW QUESTION 562
- (Topic 3)
Horizontal and vertical exchanges of secure data among supply chain partners are facilitated best by:

A. the intranet.
B. a portal.
C. a Web site.
D. e-mail.

Answer: B

NEW QUESTION 566
- (Topic 3)
Which of the following activities is the most appropriate use of an advanced planning and scheduling system?

A. Selecting the target market for a product
B. Optimizing transportation routes
C. Creating a daily demand forecast
D. Identifying constraints within a facility

Answer: D

NEW QUESTION 570
- (Topic 3)
A company regularly issues sustainability reports in accordance with the Global Reporting Initiative (GRI) framework and uses the reports to track continuous
improvement. Which of the following topics could be found in the sustainability reports?

A. Labor practices
B. Product specifications
C. Raw material costs
D. Currency exchange rates

Answer: 
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A

NEW QUESTION 573
......
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